

श्री लाल बहादुर शास्त्री राष्ट्रीय संस्कृत विश्वविद्यालय

(संसद के अधिनियम (संख्या 2020 का 5) द्वारा स्थापित एक केन्द्रीय विश्वविद्यालय)

SHRI LAL BAHADUR SHASTRI NATIONAL SANSKRIT UNIVERSITY

(A Central University established by an Act of Parliament (No.5 of 2020))

एफ.7(202) / ला.ब.रा.सं.वि / वि.नि.वि. / 2025-26

दिनांक / Date : 10.05.2025 (ई०)

स्पॉट कोटेशन आमंत्रण सूचना/NOTICE INVITING SPOT QUOTATION

निम्नलिखित अत्यावश्यक कार्य हेतु विश्वविद्यालय में कार्यरत के. लो. नि. वि. के उचित श्रेणी में पंजीकृत ठेकेदारों से मुहरबन्द प्रतिशत दर कोटेशन आमंत्रित की जाती हैं / Sealed percentage rate quotations are invited for the under mentioned urgent work from the eligible CPWD contractors working in the University.

कोटेशन सं. N.I.Q No.	कार्य का नाम Name of Work	अनुमानित लागत (रु.) Estimated Cost (INR)	निर्धारित समय सीमा Time Allowed
01/2025 -26/ला. ब.सं.वि. /वि.नि.वि.	विश्वविद्यालय का वर्ष—खण्ड 2024—25 के दौरान वार्षिक मरम्मत एवं रखरखाव का कार्य (उपशीर्ष : कार्यस्थल की आवश्यकतानुसार डिस्टेंपरिंग, पेंटिंग, पलस्तर आदि पूर्ण)। A/R & M/O work of the University during 2024-25 (S. H. : Distempering, Painting, Plastering, etc. complete) as per site requirement.	3,98,907/- मात्र / Only	सात (7) दिन / Seven (7) Days

आवेदन प्राप्त करने की अंतिम तिथि एवं समय 11.05.2025 (ई0) को अपराहन 1.00 बजे तक/

The last date & time of receipt of applications up to 1.00 P.M.

कोटेशन जारी करने की अंतिम तिथि एवं समय 11.05.2025 (ई0) को अपराहन 2.00 बजे तक/

Last date & time of issue of Quotation up to 2.00 P.M.

कोटेशन जमा करने की अंतिम तिथि एवं समय 11.05.2025 (ई0) को अपराहन 3.30 बजे तक/

Last date & time of Submission of Quotation up to 3.30 P.M.

कोटेशन खोले जाने की तिथि एवं समय 11.05.2025 (ई0) को अपराहन 4.00 बजे से/

Date & time of opening of Quotations from 4.00 P.M.

इस कार्य की मात्रा की अनुसूची (schedule of quantity) संलग्न है। यह कार्य 18.05.2025 तक अवश्य पूरा करना है। कार्यरत ठेकेदार पहले कार्यस्थल का निरीक्षण करके अपना रेट तत्काल कोट करके दें।

विश्वविद्यालय के पास किसी भी कोटेशन को बिना कोई कारण बताये निरस्त करने का अधिकार सुरक्षित है। The University reserves the right to reject any or all the quotations without assigning any reason.

कुलसचिव (प्र.)/REGISTRAR (I/c)

To

- 1. M/s Sharma Enterprises
- 2. M/s Aashu Enterprises
- 3. M/s U K Enterprises
- 4. M/s H N Traders
- 5. M/s Star Construction Co.
- 6. Sh. Rajendra Kumar
- 7. Sh. Khem Chand8. M/s Pintu Construction
- 9. Sh. Govind Narayan
- 10. Sh. Krishan Pal
- 11. M/s Vinay Electric Works
- 12. All other working contractors of the University.

SHRI LAL BAHADUR NATIONAL SANSKRIT UNIVERSITY NEW DELHI 110016

Schedule of Quantity

N/Work: A/R & M/O Work of the University during 2024-25

S Head: Distempering, Painting, Plastering etc complete.

S No	Description	Qty	Unit	Rate	Amount	Code No
	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters.					9.20
1.1	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	2.1	sqm	3473.85	7,295	9.20.1
2	Providing and fixing aluminium extruded section body tubular type universal hydraulic door closer (having brand logo with ISI, IS: 3564, embossed on the body, door weight upto 36 kg to 80 kg and door width from 701 mm to 1000 mm), with double speed adjustment with necessary accessories and screws etc. complete The rate are inclusive welding MS flat size 150mm long x50x25mm with MS chowkhat & as per direction of Engineer-in-Charge.Ozon make Model 680	25	each	1802.00	45,050	MR
3	Providing and fixing SS sliding door bolts, with nuts and screws etc. complete:					9.96
3.1	300x16 mm	1	each	303.25	303	9.96.1
4	Providing and fixing SS tower bolts, with necessary screws etc. complete:					9.97
4.1	300x10 mm	1	each	130.	130	9.97.1
5	Providing and fixing SS handles, with necessary screws etc. complete:					9.100
5.1	125 mm	2	each	66.25	133	9.100.1
	Total				52,911	

S No	Description	Qty	Unit	Rate	Amount	Code No
				B.F.	52,911	
6	Providing and fixing aluminium hanging floor door stopper, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade, with necessary screws etc. complete.					9.101
6.1	Twin rubber stopper	10	each	72.35	724	9.101.2
7	tegular edged eco friendly light weight calcium silicate false ceiling tiles of approved texture spintone/cosmos / Hexa or equivalent of size 595 x 595 mm in true horizontal level, suspended on inter locking metal grid of hot dipped galvanised steel sections (galvanising @ 120 grams per sqm including both side) consisting of main 'T' runner suitably spaced at joints to get required length and of size 24x38 mm made from 0.33 mm thick (minimum) sheet, spaced 1200 mm centre to centre, and cross "T" of size 24x28 mm made out of 0.33 mm (Minimum) sheet, 1200 mm long spaced between main'T' at 600 mm centre to centre to form a grid of 1200x600 mm and secondary cross 'T' of length 600 mm and size 24 x28 mm made of 0.33 mm thick (Minimum) sheet to be inter locked at middle of the 1200x 600 mm, resting on periphery walls /partitions on a Perimeter wall angle precoated steel of size(24x24X3000 mm made of 0.40 mm thick (minimum) sheet with the help of rawl plugs at 450 mm centre to centre with 25 mm long dry wall screws @ 230 mm intervaland d laying 15 mm thick densified	65	sqm	2158.1/5	1,40,280	12.53
8	15 mm cement plaster on rough side of single or half brick wall of mix:					1,3.5
8.1				205.25	7.007	
9	1:6 (1 cement: 6 coarse sand) 18 mm cement plaster in two coats under layer 12 mm thick cement plaster 1:5 (1 cement : 5 coarse sand) finished with a top layer 6 mm thick cement plaster 1:6 (1	20	sqm	395.35	7,907	13.5.2
	cement : 6 fine sand).	20	sqm	518.55	10,371	13.11
	Total				2,12,193	100

						Code No
				₹B.F.	52,911	
	Providing and fixing aluminium hanging floor door stopper, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade, with necessary screws etc. complete.	u us				9.101
.1	Twin rubber stopper	10	each	72.35	724	9.101.2
	tegular edged eco friendly light weight calcium silicate false ceiling tiles of approved texture spintone/cosmos / Hexa or equivalent of size 595 x 595 mm in true horizontal level, suspended on inter locking metal grid of hot dipped galvanised steel sections (galvanising @ 120 grams per sqm including both side) consisting of main 'T' runner suitably spaced at joints to get required length and of size 24x38 mm made from 0.33 mm thick (minimum) sheet, spaced 1200 mm centre to centre, and cross "T" of size 24x28 mm made out of 0.33 mm (Minimum) sheet, 1200 mm long spaced between main'T' at 600 mm centre to centre to form a grid of 1200x600 mm and secondary cross 'T' of length 600 mm and secondary cross 'T' of length 600 mm and size 24 x28 mm made of 0.33 mm thick (Minimum) sheet to be inter locked at middle of the 1200x 600 mm panel to from grid of size 600x600 mm, resting on periphery walls /partitions on a Perimeter wall angle precoated steel of size(24x24X3000 mm made of 0.40 mm thick (minimum) sheet with the help of rawl plugs at 450 mm centre to centre with 25 mm long dry wall screws @ 230 mm intervaland d laying 15 mm thick densified		sqm	2158.1/5	1,40,280	12.53
8	15 mm cement plaster on rough side of single					1,3.5
8.1	or half brick wall of mix :	20	655	205.25	7,907	13.5.2
9	1:6 (1 cement: 6 coarse sand) 18 mm cement plaster in two coats under layer 12 mm thick cement plaster 1:5 (1 cement : 5 coarse sand) finished with a top layer 6 mm thick cement plaster 1:6 (1	20	sqm			13.11
	cement : 6 fine sand).	20	sqn	518.55	10,371	15.11

s)	Description	Qty	Unit	Rate	Amount	Code No
				B.F.	212193	
10	Distempering with 1st quality acrylic distemper (ready mixed) having VOC content less than 50 gram/litre of approved manufacture and of required shade and colour all complete to achieve even shade and colour :				Micros grida il algoni mane il microscopi della microscopi della	13.41
10.1	New work (two or more coats) over and including water thinnable priming coat with cement primer having VOC content less than 50 gram/litre	400	sqm	185.65	74,260	13.41.1
11	Finishing walls with Acrylic Smooth exterior paint of required shade :					13.46
11.1	New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 0.90 litre/ 10 sqm)	100	sqm	160.6	16,060	13.46.1
12	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	40	sqm	156.05	6,242	13.80
13	Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.					13.81
13.1	Old work (one or more coats)	300	sqm	62.7	18,810	13.81.1
14	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	500	sqm	25.15	12,575	13,91
	Total				3,40,140	

S No	Description	Qty	Unit	Rate	Amount	Code No
				B.F.	3,40,140	
15	Providing and fixing 600x450 mm beveled					
	edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with					
	C.P. brass screws and washers complete.	20	each	1607.95	32,159	17.31
16	Providing and fixing PTMT Waste Coupling for wash basin and sink, of approved quality and colour.			tons reservices or Example Constitutes 1 456 Properties	X	17.69
16.1	Waste coupling 31 mm dia of 79 mm length and 62mm breadth weighing not less than 45 gms	30	each	115.3	3,459	17.69.1
	Total	3,75,758	17.05.1			
				/		
	Cost Index (except MR Items of F	23150				
	Grand Total	398907				

Executive Engineer 1755 WWD, LBNSU
N. Delhi

Rate Quoted by the Agency:-(In Words)

(In Figures)